
  Name: 
 

SM3 2.1: Complex Factoring Techniques 

Problems: 

Factor each quadratic expression completely.  

1) 12𝑚! + 12 
 

12(𝑚 + 𝑖)(𝑚 − 𝑖) 
 
 

 
 

2) 7𝑥! + 2 
 

7+𝑥 −
𝑖√14
7

.+𝑥 +
𝑖√14
7

. 

 
Or 

 
/√7𝑥 − 𝑖√20/√7𝑥 + 𝑖√20 

 
3) −4𝑥! − 8 

 
−4/𝑥 − 𝑖√20/𝑥 + 𝑖√20 
 
 

 
 

4) 4𝑥! + 7 
 

4+𝑥 −
𝑖√7
2
.+𝑥 +

𝑖√7
2
. 

 
Or 

 
/2𝑥 − 𝑖√70/2𝑥 + 𝑖√70 

 
5) 11𝑥! + 6 

 

11+𝑥 −
𝑖√66
11

.+𝑥 +
𝑖√66
11

. 

 
Or 

 
/√11𝑥 − 𝑖√60/√11𝑥 + 𝑖√60 

 

6) 2𝑣! + 7 
 

2+𝑣 −
𝑖√14
2

.+𝑣 +
𝑖√14
2

. 

 
Or 

 
/√2𝑣 − 𝑖√70/√2𝑣 + 𝑖√70 

 
7) 4𝑥! + 4𝑥 + 5 

 

4 5𝑥 +
1 − 2𝑖
2 6 5𝑥 +

1 + 2𝑖
2 6 

 
Or 

 

4 5𝑥 +
1
2
− 𝑖6 5𝑥 +

1
2
+ 𝑖6 

 

8) 4𝑥! + 8𝑥 + 6 
 

4 +𝑥 +
2 − 𝑖√2

2
.+𝑥 +

2 + 𝑖√2
2

. 

 
Or 

 

4+	𝑥 + 1 −
𝑖√2
2
.+𝑥 + 1 +

𝑖√2
2
. 

 
 
 
 



9) 9𝑛! − 5𝑛 + 12 
 

9+𝑛 −
5 + 𝑖√407

18
.+𝑛 −

5 − 𝑖√407
18

. 

 
Or 

 

9+𝑛 −
5
18

−
𝑖√407
18

.+𝑛 −
5
18

+
𝑖√407
18

. 

 

10) 8𝑝! + 5𝑝 + 2 
 

8+𝑝 +
5 − 𝑖√39

16
.+𝑝 +

5 + 𝑖√39
16

. 

 
Or 

 

8+𝑝 +
5
16

−
𝑖√39
16

.+𝑝 +
5
16

+
𝑖√39
16

. 

 
11) 3𝑛! − 7𝑛 + 12 

 

3+𝑛 −
7 + 𝑖√95

6
.+𝑛 −

7 − 𝑖√95
6

. 

 
Or 

 

3+𝑛 −
7
6
−
𝑖√95
6

.+𝑛 −
7
6
+
𝑖√95
6

. 

 

12) 10𝑎! + 3 
 

10+𝑎 −
𝑖√30
10

.+𝑎 +
𝑖√30
10

. 

 
Or 

 
/√10𝑎 − 𝑖√30/√10𝑎 + 𝑖√30 

13) 4𝑎! + 12𝑎 + 10 
 

45𝑎 +
3 − 𝑖
2 6 5𝑎 +

3 + 𝑖
2 6 

 
Or 

 

4 5𝑎 +
3
2
−
𝑖
26 5

𝑎 +
3
2
+
𝑖
26

 

 

14) 9𝑛! − 12𝑛 + 10 
 

9 +𝑛 −
2 − 𝑖√6

3
.+𝑛 −

2 + 𝑖√6
3

. 

 
Or 

 

9+𝑛 −
2
3
+
𝑖√6
3
.+𝑛 −

2
3
−
𝑖√6
3
. 

 
15) 12𝑣! − 3𝑣 + 2 

 

12+𝑣 −
3 − 𝑖√87

24
.+𝑣 −

3 + 𝑖√87
24

. 

 
Or 

 

12+𝑣 −
1
8
+
𝑖√87
24

.+𝑣 −
1
8
−
𝑖√87
24

. 

 
 
 
 
 

 

16) 2𝑛! + 6 
 

2/𝑛 − 𝑖√30/𝑛 + 𝑖√30 
 

Or 
 

/√2𝑛 − 𝑖√60/√2𝑛 + 𝑖√60 



17) 12𝑎! + 7 
 

12+𝑎 −
𝑖√21
6

.+𝑎 +
𝑖√21
6

. 

 
Or 

 
/2√3𝑎 − 𝑖√70/2√3𝑎 + 𝑖√70 

 

18) 9𝑥! + 12𝑥 + 6 
 

9+𝑥 +
2 − 𝑖√2

3
.+𝑥 +

2 + 𝑖√2
3

. 

 
Or 

 

9 +𝑥 +
2
3
−
𝑖√2
3
.+𝑥 +

2
3
+
𝑖√2
3
. 

 
19) 4𝑥! − 7𝑥 + 4 

 

4+𝑥 −
7 + 𝑖√15

8
.+𝑥 −

7 − 𝑖√15
8

. 

 
Or 

 

4+𝑥 −
7
8
−
𝑖√15
8

.+𝑥 −
7
8
+
𝑖√15
8

. 

 
 
 
 

 

20) 6𝑟! − 4𝑟 + 11 
 

6+𝑟 −
2 − 𝑖√62

6
.+𝑟 −

2 + 𝑖√62
6

. 

 
Or 

 

6+𝑟 −
1
3
+
𝑖√62
6

.+𝑟 −
1
3
−
𝑖√62
6

. 

 

 

 

 

 


